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TROSOBNI STAN B6 -/ #ar
OPIS PROSTORIJA POVRSINA | KOEF.* | POVRSINAS
KOEF.
1 | dnevni boravak, kuhinja i blagovaonica] 25.85m2z| 1,00 25.85/m?
2 | kupaonica_ keramika 3.77/m?| 1,00 3.77/m?
3 |we 1.73m?| 1,00 1.73m?
4 | hodnik_1 3.14m?| 1,00 3.14/m?
5 | hodnik_2 3.39m2| 1,00 3.39m?
6 | soba_1_ parket 8.79m2?| 1,00 8.79 m?
7 | soba_2_ parket 5.49m?| 1,00 5.49 m?
8 | soba_3_ parket 8.91m?| 1,00 8.91m?
9 | loda 2.60m?| 0,75 1.95m?
10| balkon 3.30/m?| 0,50 1.65m2
11| balkon 3.08m?| 0,50 1.54|m?
stan B7 - ukuono 70.06|m? 66,22\m?
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